
 
eLg;Gs;spj; Njw;wj;jpd; kWjiy 

 

   Njw;wk;:  xU Kf;Nfhzpapd; xU gf;fj;jpd; eLg;Gs;spapD}lhf kw;WnkhU gf;fj;jpw;Fr;  
           rkhe;jpukhf tiuag;gLk; Nfhl;bdhy; %d;whk; gf;fk; ,Urk$wplg;gLfpd;wJ. 

 

cUtpy; cs;s Kf;Nfhzp PQR ,y;  

X gf;fk; PQ ,d; eLg;Gs;sp  

/ PX = XQ 

NkYk;           vdpd;  

 Y MdJ PR ,d; eLg;Gs;spahFk;.      

                                     mjhtJ PY = YR 

 

cjhuzk;: 

X ,d; ngWkhdk; fhz;f. 

                    
/ eLg;Gs;spj; Njw;wj;jpd; kWjiyf;F Vw;g 

XM = MZ 

MZ = 3cm 
 

  

 

tpdh: 1                                      ,q;F AE = ……….. 

    BCA = DEA  (xj;j Nfhzq;fs;) 

/               

   D        

/           

 

 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 5 

m

Z



tpdh – 2 

Kf;Nfhzp  ABC  ,y;  BC  ,d; eLg;Gs;sp P,  

AP ,d; eLg;Gs;sp Q,  

        PS,  

AC = 15cm vdpd;  

AS ,d; ePsj;ijf; fhz;f. 

Kf;Nfhzp  APS  ,y;   

AQ = QP 

               
MfNt eLg;Gs;spj; Njw;wj;jpd; kWjiyf;Nfw;g  

A                

Kf;Nfhzp  BRC  ,y;>  

                            
MfNt eLg;Gs;spj; Njw;wj;jpd; kWjiyf;Nfw;g  

 S               

,  gb … AR = RS = SC 

                          AS = 2/3 AC  

                          AS = 2/3          

         / AS       cm 

 

 gapw;rp 11.3 ,id nra;f  

 

 

 

 

 

 

 


